
Grey Green Gold
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1

4
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4
of 200 = 

£7.80 - £2.35 = £12.99 - £4.87 = £15.07 - £12.46 = 

146 x 5 = 146 x 6 = 146 x 9 = 

Write 27 in Roman Numerals 
=

Write 134 in Roman Numerals
=

Write 1372 in Roman 
Numerals =

3400 ÷ 8 = 5424 ÷ 8 = 6120 ÷ 8 = 

1365 + 1735 = 1875 + 8613 = 12763 + 76124 = 

10% of 720 = 11% of 720 = 12% of 720 = 

What is the value of the 
underlined digit? 2651

What is the value of the 
underlined digit? 31639

What is the value of the 
underlined digit? 152276

4.5 x 10 = 4.5 x 100 = 4.5 x 10 x 100 = 
2
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Grey Green Gold

1
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of 200 = 100
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of 200 = 50

3

4
of 200 = 150 

£7.80 - £2.35 = £5.45 £12.99 - £4.87 = £8.12 £15.07 - £12.46 = £2.61

146 x 5 = 730 146 x 6 = 876 146 x 9 = 1314

Write 27 in Roman Numerals 
= XXVII

Write 134 in Roman Numerals
= CXXXIV

Write 1372 in Roman 
Numerals = MCCCLXXII

3400 ÷ 8 = 425 5424 ÷ 8 = 678 6120 ÷ 8 = 765

1365 + 1735 = 3100 1875 + 8613 = 10488 12763 + 76124 = 88887

10% of 720 = 72 11% of 720 = 79.2 12% of 720 = 86.4

What is the value of the 
underlined digit? 2651 = 6 
hundred

What is the value of the 
underlined digit? 31639 = 1 
thousand

What is the value of the 
underlined digit? 152276 = 50 
thousand

4.5 x 10 = 45 4.5 x 100 = 450 4.5 x 10 x 100 = 4500
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